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No. B3 ] TILIDTPY—FEBLE | 124040
% 1 & | 1000 ~ 1025 | A| mOB VS {EHHC |sa=ixssx
% 2 & | 1035 ~ 11:.00 | B |Hemx=zs—x VS {£EFOB & FOB
£ 3 #H& | 11110 ~ 11:35 | C | EFHC Vs =#Eisxsn {£FHOB
T 4 HE | 1145 ~ 12210 | D BEOB VS Heimkwzs—x {EFHC
£ 5 & | 1220 ~ 1245 | E | AEOB VS F#EI%EK HoAvzs—X
% 6 A | 13:30 ~ 1355 | F | #E#HC VS Hopxwzs—X| $HELEER
£ 7 & | 1405 ~ 1430 | G| ®EOB Vs {&EHOB | {E#HHC
% 8 A | 1440 ~ 1505 | H Homx=zs—x VS F#HEIfE#K OB
B 9 H& | 1515 ~ 1540 | I | F#HHC VS {EFFOB |Hewmkwzs—x
% 10 & | 1550 ~ 16:15 | J | FAOB VS =#Eiksi {£EHOB




